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Explain what density is. What type of property is it?

Use the following water displacement data to determine the volume of a penny: A student
added water to 3 graduated cylinder until the initial volume read 50,0 mL. The student then
carefully placed a penny in the graduated cylinder, changing the volume t050.4 mL. What is the
volume of the penny?

The penny described in question 2 had a mass 0f2.50 g. Calculate the density of the penny.

Argue which would have a larger density: A block of concrete or a block of foam. Note: Both
blocks are the same size.
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Data Table 1

SUBSTANCE MASS (g) VOLUME (mL) DENSITY (g/cm?®)
acrylic

chalcocite

clay

cork

iron

magnetite

pine wood

rubber

sphalerite

Data Table 2: Planetary Data

PLANET DENSITY "STEW" INGREDIENT ACTUAL PLANET COMPOSITION
In order closest to the SUN (g/cm?)

Mercury 54 Silicates, iron

Venus 52 Silicates, iron

Earth 55 Silicates, iron

Mars 39 Silicates, iron

Jupiter 13 Hydrogen, helium

Saturn 0.7 Hydrogen, helium

Uranus 13 e Hydrogen, helium, methane

Neptune 1.8 Hydrogen, helium, methane

Pluto 110 Methane, rock, ice (?)
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1. What happens to the overall density of the planets as one travels outward from the Sun? Why do
you think this is so?

% 3

2. Which two substances tested were NOT matched to a planetary density?

3. Which was the heavier of the two substances NOT used (from question 2 above)? Where is this
substance found in the solar system? Explain why this may be in terms of the nebular theory.

4. Use the nebular theory to state what happens to the lighter materials in the solar system.

(continued on n&xt page) -
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[image: image4.jpg]5. The mass of Jupiter is 1.9 x 10*°g. The mass for Earth is 5.98 x 10”g. In the space provided below,
use this data and the information from data table 2 to calculate the volume for Jupiter and Earth.

Show all work; don't forget the units.

6. Using your data from question 5, how many Earths would fit into Jupiter?

7. Using the mass data from question 5, how many Earths would it take to equal the mass of

Jupiter?

8. With a density of 1.3 g/cm? for Jupiter, calculate what its volume WOULD be if it had the mass of
Earth. How many times the size of Earth would this planet be?
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